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Jor the questions

Paper : GE-3 (A)

( Plant Anatomy and Embryology )

1. (@) =T© fiReRa we Tt A4 391 1x3=3
Choose the correct answer of the
following :

(i) aRFF / Na / T o Tz SRE
R e sz +T |

Primary / Secondary / Lateral
meristem helps in increasing the
girth of plants.
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(2)

(i) T AL TS | e [/ o
ofewe ¢l W |
Aerenchyma cells are generally
present in xerophytic / hydrophytic
| epiphytic plants.

(ifi) CTACHD & oy wEew | WRew /
EH A AN

Dermatogen tissue is developed
into xylem / epidermis / cortex.

() TR PIFN: » 1x2=2
Fill in the blanks :
(i) fa-FRe= oo Rer @R
Double fertilization is the special

characteristic of ____ plant.
(i) S TR R ITERE 9o
ofts ____ Q|

In angiosperms, the formation of
seed without fertilization is called

PRS-

2. 93 fra: 4x3=12
Write in short : ‘

(a) oS IAR AR

Characteristics of meristematic tissue
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3.

(8)

() T PRI FURATE

Free-nuclear endosperm

(c) RNRT R

Microsporogenesis

N9 3% R 7 AR SR T M4 I/ T

wEfoe =, R I 401 1+9=10

What is secondary growth? State briefly how

secondary growth takes place in dicot stem.
91/ Or

o BT o . 5+5=10

Write short notes on :

(@ TRV I 9F 9 w5
Sapwood and Heartwood

(b) GEm wF 3¢ ol

Cambium and Cork cambium

o T R 7 AT arwres wider = v 1 |
wiool TN IR IRRE Somy 7941 | 1+8+3=12

What is permanent tissue? Describe the
different types of complex permanent tissue.
Mention the functions of complex permanent
tissue.
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(4)

941/ Or
5 BT oy 4x3=12
Write short notes on :
(@) e Siemm iy
Adaptation of hydrophytic plant
(b) FRE@ o G RNEAR T N2

Difference between dicot and monocot
stem

() 3-*IMNTE (TP

Contrivances of self-pollination

B, webe %ﬁn%\mﬂ“ﬁq\“«\\ﬁ@“&\\i@\\\&\%\\\

—
Y Je

L

4 ‘ IY0? Diserre
d&%}opment of cus

™ R g

Write short Notes op

: e
X S, with diagram,
a dicot embiyo,

SR/ Oy

("a)

Paper : GE-3 (B)

( Economic Botany and Plant Biotechnology )

1. {a) (O 1G] ﬁﬂllaﬁ Fq T E@QZ@] ﬁ‘ﬁf <9l : 1x3=3
Choose the correct answer of the

following :

(i) ER-erfERATa FFO (T 2FS F
wARy ¥A wOEEE [ TR/
5 1o |
Somatotropin / Insulin / Oxytocin
is the first-ever hormone produced
with the help of biotechnology.

DNAWWWW
S (ERY / SB[/ ORI *[™

ST F |

Required restriction enzymes for
DNA recombinant technology are
collected from bacteria / virus /

(i)

algae.

(i) 7R T AR LA A ) & [ T4
The edible part of the clove is flower
/ seed / fruit.

( Turn Over )
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5.

(4)

9qr/ Or
5 ot for ) 4x3=12
Write short notes on :
(a) oTE e wewEy
Adaptation of hydrophytic plant
(b) RIAIR AT GRS 1T (124

Difference betweer} dicot and monocot
stem

(c) IR FPEPIR

Contrivances of self-pollination

@i R 2 RAEeR SR = Rt ez 3967 47 |

2+349=14
What is embryo? stcuss with diagram, the
development of a dicot embryo.

YA/ Or
5 o forar
Write short notes on :
(a) @'\SFFI PR Iaq’.l 1
Development of female gametophyte
(b) EFR] AFRT FoRA
Monosporic type of embryo sac

7+7=14
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(5)

Paper : GE-3 (B)

( Economic Botany and Plant Biotechnology )

1. (o) oo fARad wm Sescr fdy 31 : 1x3=3

Choose the correct answer of the
following :

(i) QR-2ERTR FYTS AW 24FS T
TARY T WOEER / iﬂyﬁﬁ /
SRGfA |
Somatotropin / Insulin / Oxytocin

is the first-ever hormone produced
with the help of biotechnology.

(i) DNA o2& FrEe oA aRess
BT (IR / SAB [ CRIRI o[
I A |

Required restriction enzymes for
DNA recombinant technology are
collected from bacteria / virus /
algae.

(i) TR I ATVTO A F [ A% / FA

The edible part of the clove is flower
] seed / fruit.
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(6)

(b) N ORI 1x2=2
Fill in the blanks :

() 2 =3 =g am A |

The botanical name of the Ramie
plant is

(i) TR TeofwE 2 1

The center of origin of wheat is

2. Y3 foran : 4x3=12

Write in short :
(a) CFRE %FT RIAGT T

Cellular totipotency

(b) cofSeTS
Vavilov

(¢ .. . Rramfafe
DNA fingerprinting

3. e WRARA [(a) F (b)] B [(c) TF (d) ]
fge Reed 7le @1 : 6+6=12

Give explanatory notes on either [(a) and (b)]
or [(c) and (d]] of the following :

(@) ST
Cultivation of black pepper
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P23/134

(7)

() JRw
Hybridoma

(c) VAR IS

Cultivation of soya bean

([d) TVF oIS
Monoclonal antibody

ozT B afte o IR R s B
6+6=12

Write a brief account on the production
process and uses of tea.

<1/ Or
oy (Bl for 6+6=12
Write short notes on :
(a) TZ-SIOH P
Legumes

(b) PG (T SR Eo SRR
Fibre-yielding plants found in Assam

T (T QIR SR PR S W SR
Ry wF o 6+6=12

Write briefly on the account of genetic
therapy of human diseases and its future

prospective. '
( Turn Over)



(8)

¥R/ Or
F‘lmﬁ‘ﬂ:

Write short notes on :

6+6=12

(@) % <&, R, 9. 9.

ELISA
B BB 9"
PCR
* % K
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